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Part A
Answer any ten questions.

Each question carries 2 marks.

1. Write a short note on management as an art.

2. What is financial management?

3. What do you mean by self appraisal?

4. Give an example of vertical coordination.

5. What do you mean by principle of span of control?
6. What is organisation manual?

7. Point out the features of responsibility.

8. What do you understand by paternalistic leadership?
9. Mention any four advantages of trait theory.

10. What are Quality Circles?

11. List the challenges in BPR.

12. State the features of Biack Belts.
(10%2=20)
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Part B
Answer any six questions.

Each question carries 5 marks.

Distinguish between administration and management.
State the importance of objectives.

Discuss the limitations of MBO.

State the benefits of decentralisation.

Explain the features of staffing.

What are the features of directing?

Explain the importance of motivation.

What are the benefits of 2 good control system?

Distinguish between Kaizen and BPR.
(6%x5=30)
PartC

Answer any two questions.

Each question carries 15 marks.

What are the principles and elements of scientific management?
"Planning is looking ahead and control is looking back". Comment.
Explain the advantages & disadvantages of line & staff Organisation.

What are the traditional controlling techniques?

(2x15=30)



